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Q.1 Multiple choice of Question: 10
[1] If 2 computer on the network shares resources for others to use, it is
called '

[a] Server [b] Client f¢] Mainframe [d] Router
12] Using networking one can .
[a] Share the resources [b] Share database
{c] Botha & b [d] None of a & b
[3] Which of the following modulation requires the lowest bandwidth?
fa] PSK  [b} ASK jc] FSK [d}-QPSK
[4] Transmission media are usuaily categorized as _ .
[a] Fixed or unfixed [b] Guided or unguided
[¢] Determinate or indeterminate  [d] Metallic or nonmetallic
{5] For long distance data transmission, what is the preferable mode of

communication?
[a] Parallel transmission {b] Serial transmission
[c] Simplex jd} Half duplex

[6] Mobile computers and Personal Digital Assistants (PDAs) are the
examples of _ .
[a] Radio broadeasting - [b] Wireless Network

[¢] Geosynchronous [d] LAN

[7] Which layer is not present in OSI Model?
[a] Internet Layer [b] Transport Layer
{¢] Physical Layer [d] Application Layer

[8] Mail services are available to network users through the __layer.
[a] Data link  [b] Physical  [c] Application  [d] Transport
[9] In the 1-persistent approach, when a station finds an idle line, it .
[a] Sends immediately
[b] Waits 0.1 s before sending
[¢] Waits 1 s before sending ‘
fd] Waits a time equal to 1 - p before sendin
[10] In the p-persistent approach, when a station finds an idle line, it .
[a] Sends immediately {b] Waits 1 s before sending
[c] Sends with probability p [d] Sends with probability 1~p

Q.2  Answer the following question in short (Any 10) 20
[1] Define: Date rate and Bandwidth.
12] Define Network Topology and Spectrum.
[3] What are Data Communication Network Criteria?
[4] List the transmission modes.
[5] Differentiate between single-mode fiber and multi-mode fiber.
[6] Explain amplitude modulation in brief with example.
(7] Explain routing in brief.
{8] Write the full form of SMTP and HTTP .
[9] Explain functions of physical layer.
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[10] Explain Persistent and Non persistent CSMA in brief.
[11] Explain switches with example in brief.
[12] Explain Router with example.

[A] State the advantages and disadvantages of computer network.
[B] Write short note on Wide Area Network.

OR
[A] Explain the two division of broadeast network in detail.
[B] Difference between broadcasting and multi casting,

[A] What is switching? Explain circuit switching in detail.
{B] What do you mean by Multlplexmg" Differentiate between TDM and
FDM.
OR «
[A] Discuss in detail fiber optics transmission media and its advantages.
[B] Differentiate between guided and unguided media.

[A} Write a note on communication satellite,
[B] Write a note on wireless network.

OR
[A] List and explain design issues for layers.
[B] Explain OSI reference model in brief.,

[A] Explain Bus Network with advantages and disadvantages.

|B] Explain Star Network with example, Write advantages and
disadvantages of it.

[A] Explain Mesh Network with advantages and disadvantages.

‘ .{B] Explain the functions of following terms with example:

:L.modems, 2. amplifiers, 3. repeaters, 4, hubs, S.gateway

- —

®

e h t th

W h

U U

i

h

th th




| No. of Printed Pages + 4
URELR udel YRARE S
A ol Aul: ANze2 - <l
5112423 UlAeY
US05CCSC04: 512jeR ol2clh
AU, 18 oo, 2019

&9 ] Seat Ro..
Fiik

AH2L: Hat? 10: 00 2 01: 00 §CLOJRL: 70
u.1 ygofl gl ugol: 10

[1] %) Alacth Urell 5113422 Blodl ELEL HIE cluRell 23 Akl cFA B,
A sdaiwa .
ETCE ol sezle (R0) Aoty [ ABGer
2] Aea(Fatell Guellol sdlal 53l sl B,
B auuA Az s ol ¥etdlos A2 53
(2l el N & oll A & ol A ut 13 ,
3] ol Qetuiell s2u DsgAgtotal Aell Ul Aos@geedl 32 B2
- @yesk  eljask  RyFSK [ Qpsk
[4] atettPatot (B2 atttot A oty collget seumi W B,
[21] RAR waUcl AHollEs2t (o1} Muoleflet vaan wuldwy
fl] ARt et AR [$]] tid wua AQAR2(@s
[5] cliol videil 32t plouMatet U2, ARl cRLclslRe lkitodt s 59 B?
[A] uMict? gedPaet o] Alae geuPaet
(] Reudsy [$1] A4 51asu
16] otsse 5122 A udae BRea ustasl (151 & oll GELSREN B,
B BR e (o) aerdddzas Rl ARG 1€} etot
[7] OSI ABEHL 820 3R §loyR wiell? :
Bl o2 R ol WRagetzte R adRs e (€l ArABeo QAR
(8] lecth ctuRlets izl W2 Neet Aelll __ R sl Gucou B,
By detsdl el wdlRe Rl A3 (8] uRaset
[9] 1-ctel A@oLL, e R RFBA T uA B, R A
(A el % HlsA B
foll] Aseta udei 0.1 A
[l st udel 1 A ydlan 53 ®
(8] 2Asctell M 1 -l otziorR uuaell e YR
(10} W-R3c12 2R 2R Ralald ARA T URA D, R ___.
A et o Hlsd 8 (ol Asetcdt udet 1
] detictott WA NsAD W (S deudean 1- Ll wA WA B

@ ' CPToD




y.2 ol et Aelletoll gsMl walod Bl (LUt 10)
1] cauvaRlet 5 tdlu €2 wA AoslAsa,
[2] Aeals AMNAY UA W cavauRle 532,
[3] 32 s1zjB el Azah wugs g 2
4] 2lottPlatol Wgto(l YA votcdl
5] Rotet-1ls SLe0iR Bia HER- S §leel? cxel dgldd,
6] Getgel W gsml SustQcur AsyAelel Aol
(7} &5 3800l nLal |
18] A AHALWL A AL of yet Rl el
(9] WS retRoll 51 Wl
[10] R (2 v wAc (ANRAUR Aol
[19] &0 Gelget 1} 5l uxomdl
[12] AG2RA BELGRRL WA WHodlL
Y.3 [39)] 51122R A2ciboll HlaIel A ARFLAEL UL
[ofl] cugss AR Azcth U g8l ol el
AL
y.3 A dllssiye Azabel & Pewdla Qatdalr westdl
(el yaa wal WE@ skl dAell cgleld.
Y4B RARDL g B? u¥z RARN [@atdat? uHAl .
ol el ARIotoN el g B? 21STAM U AgSlaH sl ctgielcl.
el
.4 (9] S180LR opilesit glertMatet Hla A ot sl2tetel @R Qatcen? i 5A
(el uole et AR s HiL €2 dglele,
Y5 [ 53R 30l ABeuse U s ol cvil
el ct2AAY Azctd U As ol vl
Uyl
.5 3] 213 112 Rostset Yaralsll YR tlotell UA Aof ctdet 5A.
el i@l AU Yeol N3et AMAL
.6 (3] SLLEL AR ARHAEL WA oA Azath yHndl
ol Getsa W 212 A2ctd Yrondl, Aoll gLl viat ARFLAEL AVl
Augicll | |
Y6 [B] SlaLeL AR Arglelel A Nal Aedba wHastell
ofl Gereoet WA Aol drcllot sl A
1. 03, 2. Anellgiad, 3, Ruled, 4, sod, 5. e

®

20

th otk o th

7 BT T — S

thh th th



